YEAR 3

Addition: Column Method
The children are expected to add 3 digit by 3 digit numbers where they are

Subtraction: Colum Method

The children are expected to subtract 3 digit by 3 digit numbers where they are
required to exchange.

required to carry.
a 453 a 453 a 453

+348 +348 t346
1 N
— 7 ()

:’;emm;: mn';‘:’ Oﬂ";';l':l ;m ' Add the ones and write the ;egsm;?u ?nnr? tens under the

tens and ones.

° 453 e 453 Q 453
348 +348 +348
01 801 801
1)1 11

Exchange 10 from the 50 to make 13 ones.
Subtract the ones; 13 -8 =5

Place the numbers one on top of the other,

Subtract the ones (note that the answer to 3
lining up the hundreds, tens and ones. - 8 is negative),

Subtract the tens: 40 - 40 = 0 Subtract the hundreds: 400 - 300 = 100

Multiplication: Column Multiplication

The children are expected to multiply a 2 digit number by a 1 digit number.

Division: Bus stop method
The children are expected to be able to divide 2 digit numbers by a 1 digit
number with no remainders.

4 4
o ” 98 e 08 98
_6 x 6 X 6

57+3=19

How many times
does 3 go into 5?

How many times

It goes into 5 once does 3 go info 277

and has a
remainder of 2. It goesinto 27

times and has
3 5 27% no remainder.




YEAR 4
Addition: Column Method

The children are expected to add 4 digit by 4 digit numbers where they are
required to carry.

Subtraction: Colum Method
The children are expected to subtract 4 digit by 4 digit numbers where they are
required to exchange.

a 7349 ° 7349 a 1349 0 5346 a 5346 e 5846

+
+6785 +6785 616 -2747 -2747 -2747
4 —_—
Place the numbers one on Add the ones and write Carry any tens to the Place the numbers one on top of the other, Subtract the tens (the answer to 30 - 40 is
top Of the other, ["-“ng up the answer tens column. llm‘ngsuz:hc ﬂ:(,mlmnfi.-;_ l}:;u']drc‘d'.,'tvlm.(:lnd Exchange 10 from the 40 to make 16 ones negative). Exchange 100 from the 300 to
the thousunds, hundreds, ones. Subtract the ones (the answer to 6 - Subtract the ones: 16 -7 = 9.
tens and ones.

7 is negative)

7349 e 7349 o 7349 ° 7349 e 4 $'23'34 '6 e 4 2 13 1
+6785 +6785

make 130, Subtract the tens: 130 - 40 = 90

6
+6785 +6785 b34
34 134 14134 14134 2747 2747
=) 191 111 111 599 2599
Add the tens including any  Add the hundreds including  Add the thousands Check your answer.
tens you have carried. any hundreds you have including any thousands Subtract the hundreds (the answer to 200
Carry any hundreds to the carried. you've carried. 700 s negative). Exchange 1000 from the Subtract the thousands: 4000 - 2000 = Check your answer,
hun reds column. 5000 to make 1200, Subtract the hundreds: 2000.
1200 - 700 = 500 =
o . Division: Bus stop method
Multiplication: Column Multiplication . D — .
The children are expected to multiolv a 3 diait number by a 1 diait number The children are expected to be able to divide 3 digit numbers by a 1 digit
P ply 9 y 9 ' number with no remainders.

(1] 298 @ 4 € 5 4 585 + 3 =

298
6 X 6
8




YEAR S

Subtraction: Colum Method
The children are expected to subtract 5 digit by 5 digit numbers where they are

Addition: Column Method
The children are expected to add 5 digit by 5 digit numbers where they are
required to carry.

required to exchange.
O .

9 38291 9 38291

85683 85683 85683 85683
+45978 +45978 el 57T -18636 -18636 -18636
1 61 - - __ -
1
— ) — 55 655
Place the numbers one on Add the ones and write Curry any tens to the Add the tens f.l'lCl.l.ld.iI"I.g any Place the numbers one on top of the other, Exchange 10 from the 90 to make 11 ones Subtract the hundreds (the answer to 200 -

lining up the thousands, hundreds, tens and 600 is negative). Exchange 1000 from the

tens you have carried. Subtract the ones: 11 - 6 = §

:‘:!E ﬁ{l}l}égrfdt:e{értl;n;:l% e T (e Carr any hundreds to the ones. Subtract the ones (the answer to 1 - 6 Subtract the tens: 80 - 30 = 50 8000 to make 1200. Subtract the hundreds:
huntﬂ_m column. is negative).
85683 85683 85683 85683 ° B SRR e 2P 0. °
38291 38291 38291
+45978 +45978 +45978 +45978
661 1661 131661 131661 18636 18636 -18636
1 ™11 111 1111 9655 19655 19655

Add the tens thousands
including any thou-
sands you've carried.

Add the hundreds including Add the thousands
any hundreds you have

carried.

Check Sy iz Subtract the thousands (the answer to
ubtras e ousan answ
including any thousands 7000 - 8000 is negative), Exchange 10 000

you've carried.

from the 30 000 to make 17 000, Subtract
the thousands: 17 000 - 8000 = 9000.

—————
Subtract the ten thousands: ik
20 000 - 10 000 = 10 000, eck your answer.

Division: Bus stop method
The children are expected to be able to divide 3 digit numbers by 1 digit
numbers.

Multiplication: Column Multiplication
The children are expected to multiply a 2 digit number by a 2 digit number.

512 5284 + 12
x 68

Multiply 52 x 8 41 6

52 |
x 68
Multiply 52 x 8

6

x 68

L5

Bis2 84

First we divide 5 (thousands) by 12. This
gives a result of 0 with a remainder of 5. The
remainder 5 (thousands) is exchanged for 50
hundreds and placed into the hundreds column.
This is shown by a small 5 in front of the
existing 2 hundreds to moke 52 hundreds.

Place holder O 5 &

R — 12|5 2 8 4
Mext we divide 48 (tens) by 12. This gives
o result of &. The & is written in the tens
position of the answer above the line.

Multiply 52

x6

—_—
Add the products 3 5 3 6
together

A

12‘5 2 ‘8 4

Next, we divide 52 (hundreds) by 12. This gives
a result of & (hundreds) remainder & The
remainder & (hundreds) is exchanged for G0
tens and ploced into the tens column. This is
shown by a small & in front of the existing 8
tens to make 48 tens. The & s written in the
hundreds position of the answer above the
line.

4 4 0

12|5 2 8 4

Next, we divide & (ones) by 12. This cannot be
done, so there are four remalning. A sero is
placed in the ones answer section as well as
remainder &.

5284 + 12 = 440 r&




Addition: Column Method

The children are expected to add 6 digit by 6 digit numbers where they are
required to carry.

YEAR 6

Subtraction: Colum Method

The children are expected to subtract 6 digit by 6 digit numbers where they are

required to exchange.

649576

649576 649576 185478
+

+185478 1185478 ———

4 —J—T" 154

Add the tens including any

649576
+185478

Place the numbers one on

bt Add the ones and write Carry any tens to the
Al L L
ones. reds column.
649576 649576 649576 649576 649576
+185478 +185478 +185478 +185478 +185478
054 5054 35054 835054 835054
i:i'l ‘I;i‘l'l 1:1111 1111 11111
Add the hundreds including Add the thousands Add the ten thousands Add the h ndnzd thnu- Check your answer.
any hundreds you have including any th d: including any th d: sands i
carried, you've carried, you've carried. sands you've carri j.

o 497264

-324819

Place the numbers one on top of the other,
lining up the thousands, hundreds, tens and

ones. Subtract the ones (the answer to 4 - 9
is negative).

e 497264 e 4971264

-324819
445

Subtract the hundreds (the answer to 200 -
800 s negative). Exchange 1000 from the

7000 to make 1200. Subtract the hundreds:
1200 - 800 = 400.

9 497264

9 497264

-324819 -324819
5 45

Exchange 10 from the 60 to make 14 ones.
Subtract the ones: 14 - 9 = 5.

Exchange 10 from the 50 to make 13 ones.

497264@

-324819 -324819
172445 172445

Subtract the thousands: 6000 - 4000 =
2000, Subtract the ten thousands: 90 000
~ 20000 = 70 000, Subtract the hundred
thousands: 400 000 - 300 000 = 100 000.

Check your answer.

Multiplication: Column Multiplication

The children are expected to multiply a 3 digit number by a 2 digit number.

Division: Bus stop method (short, long multiplication)

The children are expected to divide a 4 digit number by a 2 digit number.

<
LA

3652

x 68
29216
219120
248336

B is2 84

Firstwe divide 5 (thousand) by 12 This gives o
result gft O with. o remainder of 5. The remainder
5 (thousands) is exchanged. for 50 hundred. and.
placed. inta the hundreds. column. This s shoan

b*msmulLE in fromt. of the eaisting 2 hundreds
tr make 52 hundreds.

H 4

12‘5 2 ‘8 &4

Meat, we divide 52 (hundreds) by 12. This gives o
result of & (hundreds) remainder 4. The
remainder & (hundreds) is exchanged for 40 tens
and placed. into the tens oolumn. This is shomam
by o small & in frnt of the existing 8 tens to
make 48 tens Thed is written in the hundreds.
positiom. af: the answer above the line.

5284 + 12

L4

2|5 28 4

Meat we divide 48 (tens) by 12. This gives o
result of & The & is written in the tens position.
af the answer above the line.

4 & 0

2|5 2 8 4

Meat we divide & [ones) by 12. This cannet: be

dane, sothere ore four remaining. A zernr is ploce
in the mes onswer section. s well os remainder 4.

44O r4 440 = = 440 *
12 3

When writing. the answer the: children nesd to be
able to express it os o remainder, froction. and.
decimal.

440.333




